
,݊ ݈݁ݎݑݐܽ݊ ݎ݁�ݐ݊݁ ݐݑ݋ݐ ݎݑ݋ܲ 4 ݁ܿ�ܿݎ݁�� ,݁ݐ݊ܽݒ�ݑݏ ݊݋�ݐ݈ܽ݁ݎ ݈ܽ ݎܽ݌ ݂� ݊݋�ݐܿ݊݋݂ ݈ܽ ݐ�݊�é݂݀ ݊݋ � é݈݁ݎ ݐݑ݋ݐ ݎݑ݋݌ ݈ܾ݈݁ܽܽݒ ∶  �݂ሺ�ሻ = ݁−��ͳ + ݁−� ,à ͳ ݎݑ݁�ݎé݌ݑݏ ݐݏ݁ ݊ �ݏ  ଴݂ሺ�ሻ ܿ݁ݒܽ = ͳͳ + ݁−�. 
,݁ݏ݋݌ ܱ݊ ,ℕ ݁݀ ݊ ݐݑ݋ݐ ݎݑ݋݌ �ݑ = ∫ �݂ሺ�ሻ݀�ଵ

଴ . 
1) �éݎ ݐݑ݋ݐ ݎݑ݋݌ ݁ݑݍ ݎ݁�݂�ݎé݈݁ �, �−�+ଵଵ :ܽ ݊݋ = ��ଵ+��. 
2) ܽሻ �݈ܽܿݎ݈݁ݑ ݈ܽ ݀éݒ�ݎé݁ ݀݁ ݈ܽ ݂ݑݍ ݊݋�ݐܿ݊݋�, à ݎ ݐݑ݋ݐé݈݁ � ܽܿ݋ݏݏ�݁ lnሺͳ + ݁�ሻ , ଴ݑ ݁ݑݍ ݎ݁ݎݐ݊݋� ଴. ܾሻݑ ݁݀ ݎݑ݈݁ܽݒ ݈ܽ ݁ݎ�ݑé݀݀  ݊݁ ݐ݁ + ଵݑ = ͳ,  .ଵݑ ݁݀ ݎݑ݈݁ܽݒ ݈ܽ ݁ݎ�ݑé݀݀ ݊݁ ݐ݁
,݁ݐ݊ܽݏݏ�݋ݎéܿ݀ ݐݏሻ݁�ݑሺ ݁ݐ�ݑݏ ݈ܽ ݁ݑݍ ݎ݁ݎݐ݊݋� (3  .݁ݐ�݉�݈ ܽݏ ݈ ݁ݐ݋݊ ܱ݊ .݁ݐ݊݁݃ݎ݁ݒ݊݋ܿ ݐݏ݁ ݈݈݁݁′ݑݍ ݁ݎ�ݑé݀݀ ݊݁ ݐ݁
4) ܽሻ �݌ݑݏ ݊ ݎ݁�ݐ݊݁ ݐݑ݋ݐ ݎݑ݋݌ ݁ݑݍ ݎ݁ݎݐ݊݋éݑ݋ ݎݑ݁�ݎ é݈݃ܽ à ʹ, �ݑ ܽ ݊݋ + ଵ−�ݑ = ͳ݊ − ͳ ሺͳ − ݁−�+ଵሻ. ܾሻ �݊ ݀é݀ݎݑ݈݁ܽݒ ݈ܽ ݁ݎ�ݑ ݀݁ ݈. 
5) ܽሻ � ݈′ܽ�݀݁݀′ݎ ݎܽ݌ ݐ݊݁݉݁݊݊݋ݏ�ܽݎ ݊ݑéܿ݁ܿ݊݁ݎݎݑ, ,ʹ é݈݃ܽ à ݑ݋ ݎݑ݁�ݎé݌ݑݏ ݊ ݎ݁�ݐ݊݁ ݐݑ݋ݐ ݎݑ݋݌ ݁ݑݍ ݎ݁ݎݐ݊݋݉ ܽ ݊݋ ∶  ∑ ሺ−ͳሻ�(ͳ − ݁−�+ଵ)݇ − ͳ = ଵݑ + ሺ−ͳሻ�ݑ�.�

�=ଶ  

ܾሻ �݊ ݀é݀ݎݑ݈݁ܽݒ ݈ܽ ݁ݎ�ݑ ݀݁ ∑ ሺ−ͳሻ�ሺͳ − ݁−�+ଵሻ݇ − ͳ .+∞
�=ଶ  

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 



 

 

 

 

 

 



 

 

 

 

 

 



 

 

 

 

 

 



 

 

 

 

 

 



 


